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Unit 1

Dividing a Kingdom
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1.What are the major political components of Great Britain?
2.Who is the Head of State of Great Britain now?

3.Who is the Prime Minister of Great Britain?

4. What happened to Hong Kong on July 1,19977

5.What accounted for the decline of the British Empire?
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(1) In the last century, Britain was the largest and most powerful nation on Earth. But, for much
of this century, the British Empire' has been becoming smaller. It finally came to an end on July 1,
1997 when the last significant colony’—Hongkong—was handed over to China.

2) Until recently, it was thought that the United Kingdom® could not become smaller any fur-
ther, since all that is left are the small islands that make up the union itself. But now, Britain’s La-
bour government’ plans to create new parliamentary assemblies’ in Scotland and Wales, raising fears
that the union might disappear altogether.

3 Britain’s Prime Minister’, Tony Blair, argues that his policy of devolution’ may be the only
way to prevent the fall of the UK. The giving of additional powers to Scotland® and Wales® will, he be-
lieves, put a stop to the ongoing demands for total independence for those countries.

(4) The more important of the new governing bodies is the Scottish Parliament® in Edinburgh,
which is planned to take office at the start of the year 2000. The 129 members of the Parliament will
set up an executive' , which will have most of the powers of a full government over Scotland’s five mil-
lion citizens. The only functions of government that will still be determined in Westminster” will be
constitutional affairs” , foreign and defence policy, national security and economic affairs (although the
new Parliament will have the power to make income tax rates up to three percent higher or lower than
they are in the rest of Britain.)

(5) Nationalists" argue that Scotland should be independent from the UK because it is so different
from Britain as a whole. The most obvious differences are cultural—kilts, bagpipes and certain sports
and games are unique to Scotland. But the systems of law, education and religion also differ consider-
ably to those of the rest of the Britain. _

(6) But even those who don’t want Scotland to become a completely separate country agree that a
parliament in Edinburgh may be necessary to ensure that the £ 14 billion the British government gives
to Scotland every year is spent properly.

(7 The same argument applies to Wales, where the British government spends about £ 7 billion
a year. However, the proposed Welsh Assembly will not have the same power as Scotland’s. It won’t
be able to raise or lower taxes, nor introduce any laws that have not already been approved by West-
minster. In short, the Welsh Assembly will do little more than distribute money given by London.
This, say critics, makes it little more than a large local authority” .

(8) Although Wale’s three million citizens have a rich and distinct culture, as well as their own
language—spoken by just under 20 percent of the population—at present there is little popular support
for a complete break with London. However, opponents of independence fear that the Welsh Assembly
will make further independence seem more attractive, especially if the Scottish Parliament is successful .
(9 More pressing though are the problems that the new assemblies could cause in London. Scot-
land and Wales will continue to have MPs" in Parliament at Westminster. This means they will be in
the strange position of having a say over the affairs of England, with its far greater population of 48
million, but not over matters in their own countries. In England, there is already unpleasant feeling
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about this, and there are fears that it could lead to calls for a separate Parliament for England itself. If
that happens, there is little chance of the UK holding together in its current form.

(10) Most British politicians agree that devolution will mark a step into unknown territory for the
UK. But people like Alex Salmond, leader of the Scottish National Party, which wants total indepen-
dence for Scotland, believe that history is on their side. “We see a pattern of big nations breaking up
and separatist parties gaining ground throughout the world,” says Mr. Salmond. “Within the European
Union" , there is clearly room for an independent Scotland to take its place alongside the new democra-
cies of the former Soviet Union, eastern and central Europe.”

(11) Even those who disagree with Mr. Salmond believe that the end of the Cold War'® has encour-
aged moves towards independénce by small nations, and not just in Europe but in countries as different
as Canada and India. Indeed, some experts in government law believe that a federal system"” similar to
that of the US or Germany may prove the best solution for Britain. This would include a new English
Parliament which, like those of Scotland and Wales, would have major powers to negotiate international
agreements .

(12) In such a situation, the UK would stay as the overall sovereign® power with the British Mon-
archy” at its head. But many of its responsibilities would be handed over to regional parliaments. In

the long run, this may be the best that those strongly in favor of a united Britain can hope for.
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&@ Exercises

1 .Choose the one that best explains the underlined part.
1.:--when the last significant colony was handed over to China.
A . transferred B. returned C.passed D.sent
2.:-+since all that is left are the small islands that make up the union itself.
A . invent B.put together  C.form D. complete
3.+ raising fears that the union might one day disappear altogether.
A.come inio being B.go out of sight C.expand D. diminish
4. The giving of additional powers to Scotland and Wales:
A joined B. extra C. desired D. unusual

wn

. The only functions of government that will stil} be determined in Westminster-

A . limited B. ascertained C. resolved D.decided

6. But the systems of law, education and religion also differ considerably--*
A . weightily B.importantly C . greatly D. thoughtfully

7. The proposed Welsh Assembly will not have the same powers as Scotland’s.
A . offered B.recommended C.suggested D.intended

8.---at present there is little popular support for a complete break with London.
A . thorough B.immediate C . fulfilled D. perfect

9.:+-and there are fears that it could lead to calls for a separate Parliament for England itself.
A .isolated B.independent  C.united D. different

10.We see a pattern of big nations breaking up--

A . weakening B.ending C.disintegrated D.building up

I .Fill in the blanks with suitable prepositions.

1.In the past few years, Bill Gates has been regarded as the richest man _ Earth.

2.1 personally hope the Middle East peace talks will come __ a good end soon.

3. American English cannot be totally different  British English in pronunciation and vo-
cabulary .

4 .No one is sure whether there is a popular support  independence in Puerto Rico.

5.In the company he does not have a final say  the affairs concerning the whole company

since he is just an employee rather than the boss.
6. According to our history professor, a number of events led _ the outbreak of WWI.
7.In the war, both countries claimed that God was their side.
8 .My little nephew is similar  my elder brother in many ways.
9 the long run, China’s auto industry will enjoy a broader and brighter prospect .

10. Those who are in favor my suggestion please put up your hands.
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gﬁ’ Pre-reading Questions

1. How much do you know about Margaret Thatcher?

2. What are the two major political parties in Britain?

3. Which political party is Tony Blair from?

4.Do you know anything about Tony Blair’s reform of his party?

5.Can you name three famous British prime ministers.

w w w w w w

(1) The landslide victory by the Labour Party' in this year’s (1997) general election’ was so large
that it shocked everyone, including Labour and its leader, Tony Blair. His achievement was twofold :
he had modemised his Party and so convinced the electorate’ that, after 18 years in opposition’, La-
bour was capable of governing Britain. And he had shown that, at 44, he could be trusted as Britain’s
youngest Prime Minister this century .
(2) On the night of 1 May, when the election votes were being counted, Tony Blair was quietly
confident of victory, but he had not predicted the large number of people who would change their sup-
port from Conservative to Labour. By the end of the night, the Labour Party had won 43 .1 per cent of
total votes, which gave them 179 Members of Parliament (MPs), and the largest total number of seats
(418) ever won by the Party in its 100-year history.
(3) Most commentators agree that Tony Blair’s personal appeal played a decisive role in this victo-
ry. But supporters say there was more to the result than just his ability to perform on television and his
youthfulness. They say his most important contribution has been his work to reform the Labour Party’s
image and structure.
(4) When Blair took over as leader of Labour in 1994, the Party had already been defeated in
5



four general elections since 1979. The Conservatives’ , led by Margaret Thatcher® and later John Major’
had convinced the electorate that Labour was not fit to govern, and the Party’s old-fashioned left-wing®
image and internal divisions, reinforced the idea that the party was in disorder.
(5) The last defeat in 1992, convinced reformers within the Party that it needed new direction
and new policies. In his campaign to be elected Party leader, Tony Blair was able to show that he had
the qualities which a “new” Labour Party needed: he was young, he did not come from a traditional
working class background, so he would appeal to middle class voters, and he was committed to getting
rid of old, socialist policies like government intervention in industry’ and redistribution'® of wealth.
Some members of the Party saw this as a betrayal'’ of the past but as the election result has proved, it
was the message many voters wanted 1o hear.
(6) Tony Blair was born in a middle-class household, and grew up, first, in Edinburgh, and
then in the city of Durham in the northeast of England. He was educated at an important and admired
private school, before going to Oxford University to study law.
(7 He became a lawyer in London in 1976 and through his work he met his wife, Cherie, a fel-
low-lawyer. Both became Labour candidates” in the 1983 general election but only Tony won a seat.
Cherie continued her career as a lawyer and is now at the top of her profession. They have four chil-
dren. (Their fourth child was bom in May 2000.)
(8) According to Tony Blair’s biographer” , John Rentoul, of the Independent newspaper, Blair
had clear ambitions from an early age.
(9) “I think he had quite idealistic views about what needed to be done in the world. He saw
politics as a way of putting them into practice. 1 don’t know whether he thought of himself as a future
Prime Minister, but he certainly wanted to become a leader and put into practice his moral values. "
(10) Those moral values are based on his Christian beliefs and his socialist principles, but although
Blair talks about how they shape his personal life, he has not yet made them part of his Party’s poli-
cies.
“(11) After he became an MP in 1983, representing a strongly working class constituency" not far
from his home city of Durham, he began to rise rapidly in the Party. He served as Labour’s
spokesman" for, first, employment, then home affairs, before becoming leader. One of his first acts as
leader was to modemnise the Party’s internal structure, making it more open and accountable'® . To em-
phasize how much the Party had changed he unofficially renamed it “New Labour”.
(12) In the three years before the general election, Tony Blair developed and presented Labour’s
wider policies. These emphasized the need for sound financial management in govemnment. He also
worked hard to convince the business community that a Labour government would be good for their in-
terests and he appealed to the middle-class by promising, for example, not to raise income tax rates.
(13) The result of this new policy direction, say critics, is that the Labour Party has stopped to of-
fer anything new and that its policies are closer to the Conservative’s than those of “old” Labour. But
Tony Blair’s answer, repeated during the election campaign, was that he was being sensible and careful
and that his party would not make any promises that it could not keep, once elected.
(14) Now that he has achieved his ambition the wisdom of this approach is clear: the British public
6



are not

changes

expecting radical” change. Labour’s most ambitious policy is to improve education, but other

, like giving more independence to Scotland and Wales and reforming the election system, will

only have limited impact nationwide .

(15)

Instead, many people will be looking 10 see what influence Tony Blair’s personal beliefs will

have on British political life. On the night of his victory, Tony Blair called the election a “vote for the

future for a new era of politics in Britain, so that we can put behind us the battles of the past century

and address the challenges of the new century”. He has five years until the next general election to

bring his future closer.

¢
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% Exercises
1.

Decide whether the following statements are true or false according to the given passage.
Put a “T”if you think the statement is true. Put an “F”if it is not.
1.Tony Blair was surprised that his party won such a big victory in the general election.
2.The Conservative Party and the Labour Party are the only two political parties in the
UK. ‘
3. A great number of people who were in favor of the Conservative Party changed their
mind and voted for the Labour Party on April 30, 1997.



4 .1In the general election of 1992, the Conservative Party defeated the Labour Party and
formed the British government .

5.43.1 percent of total votes means 179 seats in the Westminster Parliament .

6 .Tony Blair’s reform of his Labour Party has won a nationwide popular support.

7.Tony Blair was so ambitious that he wanted to be the British Prime Minister from an
early age.

8 . Tony Blair was fond of such policies as government intervention in industry and redistri-

bution of wealth .

1 .Guess the meanings of the following words and phrases from the context by matching

each word in Column A with the word or phrase in Column B that is similar in mean-

ing.

Column A Column B
1. victory a.business world
2 . contribution b. confusion ; disarray
3. take over c.series of activities to gain a special aim
4 . campaign d.across the country
5. profession e.stress
6. disorder f.achievement
7 . emphasize g . triumph ; success
8 . unofficially h.assume control of
9. business community i.career

10. nationwide j .informally ; privately



